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Similar to test Question
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~
3. Which tables of values represent linear relations? Explain your answers.
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5.6 Properties of Linear Relations



Chapter 5 Relat & Funct Day 13 and 14_Rate of Change and intecepts comidinexhrbeteP2,d016

4. Which sets of ordered pairs represent linear relations? )( U

Explain your answers. m
a) {(3,11),(5,9),(7,7), (9, 5)} )“lgg c Q-'L IQ
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5.6 Properties of Linear Relations
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Section b.7
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The "y-intercept 1s the point
on the line that crosses the

e U0

y"axis. W

The "x-intercept is the point
on the line that crosses the
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Matching a Graph to a Given Rate of Change and
Vertical Intercept

. ! 1 N
Which graph has a rate of change of 5 and a vertical intercept
of 67 Justify the answer.
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5.7 Interpreting Graphs of Linear Functions
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Homework
Page: 308-310

Questions: 6(a,b)(i,iii), 7a,b, 14

Page 319
Question 4ap(i, iii)
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